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MATH 332-001, MaAy. 6, 5pM, 2010, TEST III (TAKE-HOME)

Do not omit scratch work. I need to see all steps. Skipping details will result in a loss of credit.

Problem 1 [350pts] Use methods of contour integration and/or residue theory to calculate the
integral that follows:
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Problem 2 [350pts] Use methods of contour integration and/or residue theory to calculate the
integral that follows:
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Answer can be left in a closed form infinite series that has a factorial.
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Problem 3 [400pts] Use methods of contour integration and/or residue theory to calculate the

integral that follows:
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Leave you answer in terms of 3,7 and 8.
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Problem 4 [400pts] Use methods of contour integration and/or residue theory to calculate the
integral that follows (assume b > 0):
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Leave you answer in terms of 2,7 and b and In(3).
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